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INE=DN; G- = SH(ZE) INE=A= g =9
masH | 8,965,980
13.10.04 S OloH 2 HI X+ ZEAHl XI= 3 X At sazdd 50,000
13.10.07 NHE S5 78 DHMHIA N2 A&k 126,500
13.10.11 |[NSAEES MXESH 23 ZHl XE thelgs H= 22,000
13.10.11 |MSAERES dXEd 2 3H XE el HE 135,000
13.10.11 [ JtEZ238 MsWHs 23 ZHl K& thelgs IHE 75,000
13.10.11 JHEZE SsNs24E Y HFEY thelss = 66,500
13.10.18 SCh OloH 2t HI X B EAHl XIZE 3 X At sd=dd 50,000
73_10,21 HONALY SYBAHS ALHO B A N E e e 103,000
13.10.25 [2013% oi& WAL T2 2t JH NE ielss = 30,000
13.10.31 nNHMg g5 44 ELYL Bal E N2 AH &M 148,500
SEEA 806,500
SXNEAH 9,772,480




